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Important Points to keep in Mind:
ध्यान रखने योग्य महत्वपूर्ण ब िंद:ु
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Zinc and copper are in the ratio of 5 : 3 in 200 gm of an alloy. How much 
grams of copper be added to make the ratio as 3 : 5?
एक ममश्रधात ुके 200 ग्राम में ज िंक और तािं ा का अनुपात 5 : 3 है। 3 : 5 का अनुपात 
 नाने के मिए ककतना ग्राम तािं ा ममिाया  ाता है?
(1) 𝟏𝟑𝟑

𝟏

𝟑
(2) 

𝟏

𝟐𝟎𝟎
(3) 72              (4) 66
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In 30 litres mixture of acid, the ratio of acid and water is 2 : 3 . What amount of 
water should be added to the mixture so that the ratio of acid and water 
becomes 2 : 5 ?
अम्ि के 30 िीटर ममश्रर् में अम्ि और पानी का अनुपात 2:3 है। ममश्रर् में ककतनी मात्रा 
में पानी ममिाया  ाना चाहहए कक अम्ि और पानी का अनुपात 2:5 हो  ाए?
(1) 10 litres              (2) 15 litres             (3) 18 litres              (4) 12 litres
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In an alloy, the ratio of copper and zinc is 5 : 2. If 1.250 kg of zinc is mixed in 
17 kg 500 g of alloy, then the ratio of copper and zinc will be:
एक ममश्र धात ुमें तािं े और  स्ता का अनुपात 5 : 2 है। यहद 17 ककग्रा 500 ग्राम ममश्र 
धात ुमें 1.250 ककग्रा  स्ता ममिाया  ाता है, तो तािं े और  स्ता का अनुपात होगा:
(1) 2 : 1            (2) 2 : 3           (3) 3 : 2             (4) 1 : 2
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There are three containers of equal capacity. The ratio of Sulphuric acid to 
water in the first container is 3 : 2, that in the second container is 7 : 3 and in 
the third container it is 11 : 4. If all the liquids are mixed together, then the ratio 
of Sulphuric acid to water in the mixture will be :
समान क्षमता के तीन किं टेनर हैं। पहिे किं टेनर में सल्फ्यूररक एमसड का पानी से अनुपात 3: 
2 है, दसूरे किं टेनर में 7: 3 है और तीसरे किं टेनर में 11: 4 है। यहद सभी तरि पदार्थों को 
एक सार्थ ममिाया  ाता है, तो सल्फ्यूररक एमसड का अनुपात ममश्रर् में पानी के मिए होगा:
(1) 61 : 29               (2) 61 : 28                   (3) 60 : 29                (4) 59 : 29
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A can contains a mixture of two liquids A and B in the ratio 7 : 5. When 9 litres 
of mixture are drawn off and the can is filled with B, the ratio of A and B 
becomes 7 : 9. Litres of liquid A contained by the can initially was:
एक कनस्तर में दो तरि पदार्थण A और B का ममश्रर् 7 : 5 के अनुपात में है।    9 िीटर 
ममश्रर् ननकािा  ाता है और कनस्तर को B से भर हदया  ाता है, तो A और B का अनुपात 
7 : 9 हो  ाता है। कनस्तर में तरि A शुरू में र्था:
(1) 10            (2) 20             (3) 21             (4) 25
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A container contains two liquids A and B in the ratio 7 : 5. When 9 litres of 
mixture are drawn off and the container is filled with B, the ratio of A and B 
becomes 1:1. How many litres of liquid A was in the container initially ?
एक कनस्तर में दो तरि पदार्थण A और B का अनुपात 7 : 5 है।    9 िीटर ममश्रर् 
ननकािा  ाता है और कनस्तर B से भर  ाता है, तो A और B का अनुपात 1:1 हो  ाता है। 
प्रारिंभ में कनस्तर में ककतने िीटर तरि A र्था?
(1) 26                   (2) 16.5                      (3) 36.75                       (4) 26.75
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A and B are two alloys of gold and copper prepared by mixing metals in 
ratios 7 : 2 and 7 : 11 respectively. If equal quantities of the alloys are melted 
to form a third alloy C, the ratio of gold and copper in C will be:
A और B सोने और तािं े की दो ममश्रधातएँु हैं  ो धातओुिं को क्रमशः 7:2 और 7:11 के 
अनुपात में ममिाकर तयैार की  ाती हैं। यहद ममश्रधातओुिं की समान मात्रा को पपघिाकर एक 
तीसरा ममश्र धात ुC  नाया  ाए, तो C में सोने और तािं े का अनुपात होगा:
(1) 7 : 5            (2) 5 : 9            (3) 9 : 5               (4) 5 : 7
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A vessel is filled with liquid, 3 parts of which are water and 5 parts syrup. How 
much of the mixture must be drawn off and replaced with water so that the 
mixture may be half water and half syrup ?
एक  तणन में द्रव भरा है, ज सके 3 भाग में पानी और 5 भाग में चाशनी है। ककतना ममश्रर् 
ननकािा  ाना चाहहए और पानी से  दि हदया  ाना चाहहए ताकक ममश्रर् में आधा पानी और 
आधा मसरप हो सके?
(1) 1/3       (2) 1/4        (3) 1/5         (4) 1/7
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In two alloys A and B, the ratio of zinc to tin is 5 : 2 and 3 : 4 respectively. 
seven kg of the alloy A and 21 kg of the alloy B are mixed together to form a 
new alloy. What will be the ratio of zinc and tin in the new alloy ?
दो ममश्रधात ुA और B में ज िंक से हटन का अनुपात क्रमशः 5:2 और 3:4 है। ममश्र धात ुA के 
सात ककग्रा और ममश्र धात ुB के 21 ककग्रा को एक सार्थ ममिाकर एक नई ममश्रधात ु नाई 
 ाती है। नए ममश्रधात ुमें ज िंक और हटन का अनुपात क्या होगा?
(1) 2 : 1            (2) 1 : 2             (3) 2 : 3              (4) 1 : 1
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A jar contained a mixture of two liquids A and B in the ratio 4 : 1. When 10 litres 
of the mixture was taken out and 10 litres of liquid B was poured into the jar, 
this ratio became 2 : 3. The quantity of liquid A contained in the jar initially 
was:
एक  ार में 4 : 1 के अनुपात में दो तरि पदार्थण A और B का ममश्रर् है।    10 िीटर 
ममश्रर् ननकािा  ाता है और 10 िीटर तरि B  ार में डािा  ाता है, तो यह अनुपात 2: 3 
हो  ाता है। तरि A की मात्रा शुरू में  ार में ननहहत र्था:
(1) 4 litres              (2) 8 litres              (3) 16 litres               (4) 40 litres
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A and B are two alloys of gold and copper prepared by mixing metals in the 
ratio 5 : 3 and 5 : 11 respectively. Equal quantities of these alloys are melted to 
form a third alloy C. The ratio of gold and copper in the alloy C is:
A और B सोने और तािं े की दो ममश्रधातएँु हैं  ो क्रमशः 5:3 और 5:11 के अनुपात में 
धातओुिं को ममिाकर तयैार की  ाती हैं। इन ममश्र धातओुिं की समान मात्रा को पपघिाकर एक 
तीसरा ममश्र धात ुC  नाया  ाता है। ममश्र धात ुC में सोने और तािं े का अनुपात है:
(1) 25 : 33          (2) 33 : 25             (3) 15 : 17             (4) 17 : 15
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The ratio of spirit and water in two mixtures of 20 litre and 36 litre is 3 : 7 and 7 : 
5 respectively. Both the mixtures are mixed together. Now the ratio of the
spirit and water in the new mixture is:
20 िीटर और 36 िीटर के दो ममश्रर्ों में जस्प्रट और पानी का अनुपात क्रमशः 3:7 और 
7:5 है। दोनों ममश्रर् को आपस में ममिाया  ाता है। अ  नए ममश्रर् में जस्प्रट और पानी का 
अनुपात है:
(1) 25 : 29            (2) 9 : 10             (3) 27 : 29            (4) 27 : 31
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A mixture contains alcohol and water in the ratio 8:3. On adding 3 litres of 
water, the ratio of alcohol to water becomes 2:1. Find the quantity of original 
mixture. 
एक ममश्रर् में एल्फकोहोि और पानी 8:3 के अनुपात में है. 3 पानी ममिाने पर; एल्फकोहोि 
और पानी का अनुपात 2:1 हो  ाता है. ममश्रर् की वास्तपवक मात्रा ज्ञात कीज ये.
(1) 25            (2) 12             (3) 27            (4) None of these
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In 42 liters mixture of solution of salt and water; 25% is salt. How much liter 
water should be evaporated so that the salt becomes 35%?
नमक और पानी के 42 िीटर ममश्रर् में 25% नमक है. उसमे ककतने िीटर पानी वाजपपत 
ककया  ाय ताकक नमक 35% हो  ाय?
(1) 25            (2) 12             (3) 27            (4) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E02349

Milk and water are mixed in a vessel A as 4:3 and in vessel B as 3:2. For vessel 
C, if one takes equal quantities from A and B, find the ratio of milk to water in 
C.
एक  तणन A में दधू तर्था पानी 4:3 के अनुपात में   कक  तणन B में 3:2 के अनूपात में 
ममिाया गया.  तणन C के मिए यहद A तर्था B से समान मात्रा में ममश्रर् मिया गया हो; तो 
C में दधू तर्था पानी का अनुपात ज्ञात कीज ये.
(1) 17:19 (2) 23:17             (3) 12:19 (4) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E02349

Next Class Topic

(Fri – 30 July)

No Formula Technique

Repetitive Replacement 

in Mixture

http://www.mahendras.org/

